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dbig He number are P/g‘H\cég‘b')p}-eS,
£ will Foem O p'.gb{; Al

3.5\ 52 32 4s?
S o4q _ ad2s
S~ 34

T+ will net ,d"#}
SD’FM (0,8 r\.\g)\k '};P\a-hée.

\\

Pythagorean Triples Legs Hypotenuse
34,5 2,9 S
'm\ L§ (0\ % ’ O

12, 16,20 14, b 20

15, 20,25 \6. 2D | 225
-—H..T;H-éb \

21,28,35 ;)_,I 1% 35

\9\ /). e ‘H\t ol‘l\%)\'\g_’ 'i:T‘.\p}-a_ \ GroL

NuJ"S\\p); esch 7\ 'Hve— Samne hw«r\éﬁ"
Ow T'\.l»‘)\'{' 5 ) )2\ ‘3
ﬁ\'brtu 10 \ ;)-'J[\ 2b
AR V5, 36,39
62
20\11“3) LEL 2SH bt

25, 60) o> b25 1363
W25 Y4225



gr 8 u1 sqgre day 17 pythag problems.notebook November 24, 2016

Homework Solutions pg. 43 #9,10,12(a.c), 14, . b’(
laa\\ W 43 Lﬁ%q'ﬂ‘b
JLP+ H“a % B
16 ¥ 2367 G ot
3500 m 1380 'YED b
Ce JZsoo

Ly 24,33, —

20+ 29%

5”7\\,;;[)'0;4 m|§SI Vﬁ %
N 12,371

12 +137Zﬂ

44413

l+613 s {TST
g £ cxirp 3% ?
B(aggl'ﬂ m(;@ 1
2) g%ty

4 03 65, ug o g ue

’7?, 55 +L)'g1 55335
3025+ 2301
= 329

Nes s o m“l’o'ﬂ)c



gr 8 u1 sqgre day 17 pythag problems.notebook November 24, 2016

Page 48-49 #2, #3, #4a, #5a
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2) Must label the longest side (opposite to 90°), the hypotenuse , c.

The other two sides does not matter which is a or b.
3) When given legs and asked to find longest side, c then add. When

given cand a Ieg,L’;hen subtract
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Applying the Pythagorean Theorem

Now that we know how to use the Pythagorean Theorem, we will
apply it to "real life" situations.

A doorway is 2.0 m high and 1.0 m wide. A square piece of plywood has
side length 2.2 m. Can the plywood fit through the door?

Always start with a diagram and fill in what you know.

Ask yourself, What shape is the doorway? What is the longest part of
the doorway?

The longest part is the d', a:m\.l
To find the length of the Vo
2 use Pythagorean Theorem.
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A piece o1 plywood 2.2 m long could fit through
the door.

2)A ramp is used to load a snow machine onto a trailer. The ramp as a horizontal
length of 168 cm and sloping length of 175 cm. The side view is a right triangle.

How high is the ramp?
Remember start by drawing a diagram and filling in what you know.
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The ramp istﬁcm high.
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Marina helped her dad build a small rectangular table for her bedroom. The
tabletop has a length of 56 cm and a width of 33 cm. The diagonal of the
tabletop measures 60 cm. Does the tabletop have square corners? How do
you know?
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